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GENERAL INSTRUCTIONS TO THE EXAMINEES :
(1) el wevem F9 FA -1 WA S e
Candidates must first write their Roll Nos. on the question paper compulsorily.
(2) ®ftyE e ® AfFEr 2
All the questions are compulsory.
(3) WIE WA H I A ¢ Ie-gfeern § @ forg
Write the answer to each question in the given answer-book only.

@) T et & sl e €, 3 wft F I v T @ ford

For questions having more than one part, the answers to those parts are to be
written together in continuity.

(5) W EEA1 1§ 6 7% (Fgfasedty wyal) & It afern et Fr-gfemm o g |

Write the answers of Question Nos. 1 to 6 (multiple choice) by making a table in
your answer-book.

(6) SA-wA % et @ ool wre i favedh smr 1 R / ot / el @93 e foedt s
FyE B A wd

If there is any error / difference / contradiction in Hindi and English versions of
the question paper, the question of Hindi version should be treated valid.
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At room temperature the non-metal which is found in liquid state is

(a) Oxygen
(¢) Bromine

(b) Sulphur
(d) Chlorine

L2 e E ORI S S YR 2

(31) <A 5=
@) wE =

(@) i A
® FfFNs-I=19

The type of reproduction found in potato is

(a) Sexual reproduction

(b) Asexual reproduction

(c) Vegetative reproduction (d) Parthenogenesis

3. fobeht sl e & vt 5 T @ go S i w g e

(31) ®rTor

(®) qPeH

@ =
(@) ey fmioy

The transfer of pollengrains from the pollen sacs to the stigma of a flower by any
means of agent is called

(a) Pollination
(c) Budding

(b) Fertilization

(d) Spore formation

A #= Efy ) sngh At @

() 20T HH (® 20 20,000 x5

@) 25,000 @ 30,000 & @ 30,000 & & 37fr;
The frequency of Audible sound is

(a) less than 20 Hertz (b) 20 to 20,000 Herty

(c) 25,000 to 30,000 Hertz (d) more than 30,000 Hertz
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5. forga uma 1 9% v Rra R Sw snuria @
(30) Fefa e () AR
@) TRt TE - (7)) WA
The effect of electric current on which Electric Iron is based
(@) Thermal effect (b) Magnetic effect
(¢) Chemical effect (d) Raman effect

b ﬁﬂﬁmﬂmﬁaﬁﬁﬁwﬁwwwm%

(30) die @) fomrge
@) TR @ fagih
Type of coal which contain lowest amount of carbon is
(a) Peat (b) Lignite
(¢) Anthracite (d) Bituminous

J whiem-1 9 Hicm-2 &1 e il

i - 1 HicH - 2

1. A & a. FEARX

2. gamdHE b. wedEA

3. s c. Ty

4. HEA FHEA d wed=

Match Column - 1 and Column -2 :
Column -1 Column -2

1. Ploughing a. Harvester

2. Sowing seeds b. Cultivator

3. Imigation c. Electric pump

4. Harvesting d. Seeddrill
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Write any two differences between manure and fertilizer. 1+1=2
97 gt Y e s Ton R
Write any four physical properties of metals. Yaxd=12

}O/ﬁ%maﬁmmmﬁwmﬁmﬁawl

Draw a labelled diagram showing displacement of copper on iron. 2

7 Sa-fafraan aron & 913 @ s R |

Write any two causes of biodiversity degradation. 1+1=2
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Explain Thermoplastics and Thermosetting plastics with example. 2+2=4

u/mm@rﬁﬁmﬁmmaﬁqaﬁ%?

Why there is need of blood donation and blood bank ? 1 +2=4

M T TR R wrm ¥ B ww IuE iR |

Write any four measures for prevention of Dengue fever. I1xd=4
x 4=
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Complete the table of energy conversion on the basis of observation in daily life :

Energy consumed

by the item

Energy conversion

by item

4., | vaq aEh
S. No. | Item Name
1. | Tube Light
2. Electric
Heater
3. | Dynamo
4. | Wind Mill

—

—

167 e ety A @ e e At & | Fowon e e |

Cuckoo’s sound is more melodious than crow. Explain with reasons.

U7 = e e w1 P 3 st awa # 7 awsee |

How can we construct the Electric Magnet ? Explain.

187w I F T w3 ol |
Write any four uses of artificial satellite.

(vmi]
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Write any four safety measures against cyclone.

/ﬁmﬁﬁﬁﬁwmmﬁ%@mmmﬁ?

What efforts you will do to reduce pollution in water reservoir and river ?

. @) wm—mm%@aﬁéammm
@) TeH e H B Q) o e |

(a) Write any two suggestions for Swachha Bharat — Swastha Bharat.

(b) Write any two reasons for road accidents.

\2/(31) T B2 <l TE1 i miferd fam vt wwsmew )
@) maﬁﬁw@aﬁaﬁwﬁt&ﬂ{@ﬁeﬁ)ﬁmﬁ@fﬁml

®E. | oRwad | soem e
] A
2 | B
3. \ AB
A

(a) Explain the structure of human heart with labelled diagram.

(b) Complete the table with the antibodies found in blood group.

S. No.

Blood group

Present antibody

1.

aowo

A

B
AB

0
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[E-Mitra is an important facility of daily life. Comments. 6
: AYTT/OR
a1 SRR (IT) werem ga wam &) Hoddl Fer 0 5 39 2 8 ahd!
27

How information technology is useful to produce the hypothesis of corruption
free society ?

014./(:;1) I 08 1 e o e |
(F) IO 9 HFad o I feafiae |
(a) Draw a labelled diagram of human eye.
(b) Write differences between convex and concave lens. 2+4=6
- SET/OR

(30 e Fi faeeht § rqada %1 few e AT )
(@) AT W TR i3 I g fafe |

(a) Draw a ray diagram of refraction from glass slab.
(b) Write any four phenomenon based on refraction.

—/2{ (31) Uferm & @ =1 mifea fog Tame
@) Yferem F1 Fmio 8 gar 8 7 wwensw |

(a) Draw a labelled diagram showing extraction of petroleum.
(b) How petroleum is formed ? Explain. 2+4=6
HAYG/OR

(1) AT & ISR JrrgeE 7 iR Ry =T |
(@) At e w3 fre sftea deft & o wr smaEE gy fafe |

(a) Draw a labelled diagram of fractional distillation of petroleum.
(b) Write any four practical aspects of life style to be environment friendly.
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